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7 Write a conclusion for this controlled experiment.

In your conclusion, be sure to:

e Answer the experimental question.

¢ Include supporting data from the Block Mass vs. Distance Traveled table.
e Explain how these data support your conclusion.

Question: What is the effect of blocks with different mass (10 grams,

20 grams, and 30 grams) on the distance a toy truck system with the

block will travel?

Conclusion:

The effect of different amounts of mass will make the truck go farther or closer because

with 10 grams the average was 425 centemeters and with 20 grams the average was

400 centemeters so the less weight the farther it moves.
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7 Write a conclusion for this controlled experiment.

In your conclusion, be sure to:

e Answer the experimental question.

¢ Include supporting data from the Block Mass vs. Distance Traveled table.
e Explain how these data support your conclusion.

Question: What is the effect of blocks with different mass (10 grams,

20 grams, and 30 grams) on the distance a toy truck system with the

block will travel?

Conclusion:

I conclude that the truck slows down with more weight on it and that it speeds up with less

weight on it.
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7 Write a conclusion for this controlled experiment.

In your conclusion, be sure to:

e Answer the experimental question.

¢ Include supporting data from the Block Mass vs. Distance Traveled table.
e Explain how these data support your conclusion.

Question: What is the effect of blocks with different mass (10 grams,

20 grams, and 30 grams) on the distance a toy truck system with the

block will travel?

Conclusion:

The more the mass the shorter the truck will travel. The truck with 10 grams went an

average of 425 cm. With the 30 g weight the truck only traveled 360 cm. That’s 65 cm less

than the 10 g weight.





